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WX 29 establishes the 71wn like the 1339, and he queries thus

OVERVIEW

The 722w *12 queried' how we are to understand the 71w» of 121 nuvan an°n. Does
the 71wn mean that the M717X was on account of the 72 and therefore only in
such a case does he pay a 11 °%n, because it is a 7727 77210 (but there is no 1"n for
regular M717X [as 01OMD maintains]), or is the 71wn teaching us two separate laws;
one if NYYIN 7N it pays a 1"1 (since it is 17p), and also if there were 172772 MM
(not through 7vv1) he also pays a 1'm (like the view of the 7127). The Xna
challenged this query; how can the mwn follow the view of 012210 (that there is no
M 1"1), since the X9°0 states 17 °Iwn SV 191 YR BV 191 YHO7 Y 7077, but
according to 013110 there is no MMIX 1"1. The X723 continued that if we will
interpret *Iwn Yy PWRIT DY to refer to AtnNa% PWXY and otnab v (meaning the
second and third o°%2), this will then resolve the query of *WwX 27 that ©1Om0
differentiates between 112 (the 7tna» NWRI) and 15 115 (the 71nNAY *aw). The question
is how can "wx 27 reconcile his query (regarding 72 13 according to ©120) and the
query of the 72°w°7 "12 regarding whether our 71wn can follow the view of 013110
(and maintain that there is a difference between W2 and w2 12). The XA
answered” that *wx 21 explained the query of the 722w *12 to be according to the
1121 and the query is whether M 11¥% "W v or not.” NvoIN explains why the X713
did not choose an alternate explanation.

mMooIn anticipates the following difficulty:
- 4‘1)3?&‘,7 1219 N8N ONRT 992909 281 MN

The &3 could have said that according to *wX 217 the query of the X723 (whether

the M1X was v°y2 °"Y or not) was asked in an 927 XX»n A8 manner, meaning-
= N1 D10 IN NP 1929 12101 2197 1N IND 99D NN oN

"It is presumed (by mooIn) that this X*¥2°X (of the 727w °12) preceded *wx 27 and he was somewhat bound by it.
2 This is the view of mpown. See “Thinking it over’ # 1.
? The query was not whether the 73wn can be following the view of 912110 for it is discussing a 1w "y Mm% (for
then we will need to assume that 012110 differentiates between 12 and 115 113), but rather the query was according to
the 7127; whether the N7 was 39772 (but 79772 X7 it would be 211 a pr1 ¥°27 for n717%% MW w°) or whether the
MY was because of the 7v°ya (and nevertheless they still pay a 1", since MTMX? "W PX).
* This was, in fact, the manner in which the X3 previously resolved the contradiction between the query of *wx 27 if
MEY 1w e and the query of X297 whether m1nXY aXTY7 w; by saying the s'R27 query was in an "nX manner; if
MMNX? W PR 2NN, there is a query whether mmx? aR7va wo.
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If you will assume that 12 11> is not like 12,” we can then query whether the
mwn is according to the 3129 or according to 2121210 —

mdoIn explains the reason the X773 did not answer in this manner:

- S33W 1PN MY YA S¥INIY 1YY NOYTY NN
For the X723 rather preferred that the query of the 72°%°7 °12 according to WX 27
should be whether MMIE? M2 WS or MMNIX? MW PN.

Moo responds to an anticipated difficulty:’
= 93Y 2T DY IN INIIN 2 57199983 999N 12512300 N NIN NN KXY DIYDT NIYaT NI

And it is the view of N1901n that the previous query of the 72°w°7 12 was limited
only to the question whether the 8723 is discussing normal n1192 (a 2377 777IN)

or MMIX through "% (a 7790 of 17p) -
- XY 11

And there was no more to the query; no mention of the 1327 and 01110 -
= NN 1921290 IX NN 1229 Y7110 92010 ©7VM

But the X923 added on its own to explain the query (of the 72°w°7 *12) to mean

whether the 71wn is according to the 32139 or according to ©197219 (but this was not

mentioned in the original query of the 72°w°7 °13) -
- v PNRIN $929D 1YW W ON INY NIYIINT W91 SYUN AN

So swx 29 explained differently that the 72°w°7 *12 queried whether there is a
P11 29299 M or there is no pri v°27% Mavw.

> The 72°w°7 °12 were querying a hypothetical. If we would assume that 712 12 is *»7 123 WY then perhaps the mawn
can be according to 01on10. The advantage of this interpretation is that it avoids the difficulty maoin discusses shortly
(see footnote # 7).
® The way the X1n3 established the query, the 71w will go according to the 1127 (who are a 2°27), which is preferable
than to say (perhaps) the 71wn is according to 0120 (who is a 7°17"). See ‘Thinking it over’ # 2. [Alternately, the X3
would rather that we not resolve the query of X? X *»7 1132 113 115, and we should establish the m1wn according to the
1137 (which is always preferable), where the query will be whether m11¥% »1w w». In this way none of s"WX 27
queries are resolved (even hypothetically), and the only assumption is that the 71wn is according to the 7127.]
7 How can n1o01n say that the query of the 72°w°1 *32 was whether 17178 "*w @ or not (and the 7w follows the
view of the 1127), when the X713 states that the query of the 72°w77 °12 was whether the 71wn is according to the 7127
or according to 012m107?!
¥ Therefore *wx 27 could interpret the two sides of the query to mean whether M™% "W w° or not.
? The original query by the 72°w°7 *32 was whether the m11% of the wn was through 7v°¥a (a 77290 of 17p) or it was
TR 2 (a 770 of 937), without clarifying what the two sides of the issue were. The 8123 when it cited this query
assumed that it depended on whether the 71wn follows 012110 (then the M7% must be 7vv2a *"Y) or the 71wn follows
the view of the 71127 (the MM1X can be M7 °). However *wX 17 maintains that the X743 is mistaken and that the °12
72w i assumed that the 71wn is 131273 and they queried whether the NM1717% was 7v°ya *"v (and nevertheless he pays a
1"1 since MMIZY "W PR) or the MY was 7R 3 (however if it would be 11w *"v he would pay only a P11 ¥°27
since N11NXYY "W W),
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mooIn find support for this contention that even though the X137 X”N0 makes a statement, it may
only be an assumption on part of the X723, but not necessarily the view of the original 2°XMnX
(who presented the query).

= (IR PANNN MNIXT OYI X,2P 97 K Ka2) TAPNN P9 NIIN NIN) INND)

And there is something similar to this in %ap»7 P95 -
- 929 P8I Hphn 933 9299 19307 Pnuw 291 Noya 2a)

Regarding the query of nww 29 whether one who hires a contractor

transgresses the prohibition of »n »2, or he does not transgress the prohibition of

720 92; initially the query was presented as 729 X IR 1°70 92 D1wn 02w Nivap -
- Pano 198y nYY 29 9915 rha nava nnp 1IN Y ©7Un 901Ny

Where the 823 added (its explanation of the two sides of the query) saying, do
we assume that a craftsman acquires the improvement of the utensil, etc.;
however nww 29 was asked this query simply, without the reasoning of mawa anp N
Wy -

INDYINT RNOTYWA 999997 N9 (xmovwa annn 127 0w &, 08 97 0ps) NP 91N
And in 8»p 17 P9 it is evident that the ruling of nww 27 (that he is P2n 92 12w
by a 122p) is discussing a letter carrier (where there is no *7> naw)

SUMMARY

' The query was asked of nww 21 (it was not a query presented by nww 27).
"' The 77N writes (in »,0° [2w17p] ®IP~1) that P12 7Y TR POW N2 120 KY; an employer may not hold back the
wages of an employee overnight. This is referred to as the prohibition of 1°2n 72. The question of nww 11 is, does this
X7 apply only to one who is hired out by the hour (or day), or does it apply (even) to a contractor who is paid for the
job, but not by the hour. If a contractor completes his job, will the owner transgress the > of 170 &Y if he withholds
his payment overnight.
2 If we assume that IR I8 93 mawa anp, this means that if for instance a tailor was given material to make a
garment, the increase of the value from when it was raw material to becoming a garment; that increase belongs to
the 12 (the tailor). When he gives the garment to the owner, it is as if the owner is purchasing from the 12X the
value which the 12 owns in this garment. It is therefore similar to a sale and it is not similar to receiving wages,
therefore if we maintain >3 mawa 71 1K there will be no MOR of P20 93, since it is a sale and not wages. However
if we maintain "3 mawa 1P N PR, then the owner is paying the 12X for his work and he is considered a 7°5w and
the W2 of 12n 92 will apply (since it is not a sale, but payment for work rendered).
1 nww 21 replied that there is a 3> of 190 92 by a 192p.
4 The xma there asked since nww 271 maintains there is 720 92 by a 1923p, this would indicate that he maintains X
"3 mawa P 1R (see footnote # 12) and argues with "oX 27. The &3 concluded that nww 27 (can maintain 3P N
93 mawa, however he) was discussing a 71227 who was a messenger (to deliver letters), where there is no *23 naw. It is
obvious from that X7n3 that nww 21 responded to a query, which had nothing to do with >3 mawa anp X (for since
nww 27 can maintain *25 mawa AP X, then according to the interpretation of the &3 he should have ruled there is
no P7n 72). We see from here that sometimes the X3 inserts its own interpretation of a query, which initially was
not discussing this issue at all. Similarly here the initial query was only whether the 1717 was 717X 3 or nv°¥2 "y
it was the &3 who interpreted this query to mean whether the 71wn is according to 9120 or the 1127. However, 27
WX maintains that the query was whether n1117%% "w wo.
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It is preferable to establish the 71wn according to a 0’27 (even if it requires some
reinterpretation of the X713). Occasionally the X723 inserts a [controversial]
interpretation of a query which the original query did not assume.

THINKING IT OVER
1. m9oIn explains that the s'8n3 answer was that *wX 17 explained the Xv2°X of the
7207 °12 in a different manner.'® Does *"w understand the X723 as MpoIn does?

2. Why does mpoin write that “Pw PR I MW wha vamb 19 x007w,'° when
seemingly the answer is that "> X9>7¥ that the mwn is according to a 0°27 and not a
!

15 See footnote # 2.
16 See footnote # 6.
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